1 2 3 | 4 5 | 6 | 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 08/13/05' Y LJC 08/13/05’
ITEM | PART NAME Qty NOTES B 3 1 YCH 09/13/07’ ”\/ LJC 05/20/10°
P E— 1 PLASTIC HOOD 2 | MBS c B3+ 2001547 JM3+10 | YCH 08/30/10° Y LJC 08/30/10’
[IEJ'—H | ”_IEH 0 , |2:1] LONG BOLT 2 #4—40 E DRAWING UPDATE | JLZ 05/19/16’ "
~
~ i ~ 2.2 SH(T)RT BOLT 2 #4740 NOTES:
‘ raos ‘ 3| NV 2_d4ES 1. PART NUMBER CODE:
- 4 LONG SCREW 2 M3 DS1046 — 09 X X X X
5 SMALL WASHER 2 T T Washer type
6 SHORT SCREW 2 M3 1. Metadl
7 METAL WASHER 2 M3
30.8 Bolt type
L: Long
12.0 S: Short
1 Packing type
1: Mix packing
I ‘ I Cover Material
i e C: Chromium plating
—— Position
! CONNELY . .
| J o = 05 pin
‘ g 3
|— ‘ v T t
B @ i } E_ ) ; ; I
| | !
|
t\li_l,f/ ) EIE0RY
‘ SHORT SCREW 2—\ 143405
4—40 UNC
7 = M3 3
) \
9 ik —{ - -3
L0 ) W
- == 5.4
\ ! :
Ny L / 5 M3 3 MBShort BOLT ] UNT t=2.3mm
11.840.5 4 \ 4.8
: . / 3, o 10.0+0.5 /_ 1
I O @3_2 |
=< | 00|
2 =ie & |
o 16.2+0.5 j
4-40 UN Metal LONG SCREW
\ SMALL WASHER
@ *EEEH**** GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @) -&F | TITLE D—SUB Spin Hood Chromium Plated
6405 L X. +0.60 X. +5 UNITS mm
44 H X +0.38 X 3 SHEET SIZE A4 SERIES [ DS1046 SERIES
< XX +0.25 XX &2
»
DRAWING TYPE |COSTOMER Jt% gfﬂ EE % ﬁ BE /A.\ E,‘—J
Long BOLT SCALE 1:1 [SHEET [1 OF 1
DRAWING NO. | C—DS1046—09XXXX—E connFLy CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 I 8



Administrator
新建图章


